SuperStand
Floor Stand f 3/50/60

SuperSat®3, 50 & 60

Item| Part Name

Q
<

1-50 | “L” Bracket for SuperStand 50

1-3 | “L” Bracket for SuperStand 3

1-60 | “L” Bracket for SuperStand 60

2-50 | Pole for SuperStand 50 L= 20.5"

2-3 | Pole for SuperStand 3 L= 32.5”

260 | Pole for SuperStand 60 L= 14.25"

3 |Screw 1/4"-20 x 1" L

4 | Square Nut

*5 | Screw M4 x 10mm L

6 |Screw 1/4”-20 x 1/2” L

NN INDNINDNIBEININDINDINININ

7 |PVC Washer

8 |Rubber feet

—
o

9 |Screw 1/4”-20 x 1-1/4" L

10 | Plastic Washers

N BB

11 | Glass Base

* DO NOT OVERTIGHTEN SCREW #5

é())ldenFar l'echnology

A Passion for Sonic Perfection®

oy
)
:..
of 2
@
&

— SuperStand 3

g

U

SuperStand 50

SuperStand 60



